BEAD GEXEF - BTT )

Ff4F 10R | B
b 1 X % # F O A | 5 7T
B 7 B o X 6,654 13,308 6,928 6,380
X B # K 1,178 2,897 1,424 1,473
£ P 1 K 582 1,473 748 725
N RO K 990 2,647 1,345 1,302
Bl %&£ # K 6,920 14,892 7,292 7,600
Nn |’ R # X 1,297 3,131 1,527 1,604
ik x M # K 1,055 2,497 1,233 1,264
it & & # K 7,868 18,747 8,995 9,752
BE o M o X 6,299 16,013 8,003 8,010
& 5 32,843 75,605 37,495 38,110
2Ff4F|10R |1 B
w X 4 B T A& tH F A ] B8 %z
BE 7 U X BETEIATA 4,479 9,292 4,668 4,624
¥ P 186 345 195 150
® B 420 833 4217 406
£ L o H 735 1,312 818 494
g R H 287 505 269 236
% H] 547 1,021 551 470
o ORX 3 6,654 13,308 6,928 6,380
N E # X = B 87 212 106 106
X & 8l4 1,989 975 1,014
B K EH | 40 360 176 | 84
+ K 18 #r 8 137 336 167 169
A - S 1,178 2,897 1,424 1,473
k P # K ® B H 143 360 | 84 176
& fF 16 39 17 22
¥ @\ H 126 405 192 213
& & H 96 229 109 120
R HT 132 277 162 115
K & 69 163 84 79
e K 3 582 1,473 748 725
N R O X N R H] 178 414 209 205
BN R H 142 388 195 193
7 PR HT 31 74 35 39
B R ¥ 463 1,323 685 638
g B 65 1 80 87 q3
2 1] 1] 268 |34 | 34
o K 3 990 2,647 1,345 1,302
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BEAD GBXF - BT T35

Sf4F|10R | B
i K % B/ T A& #HF B | A = B -8
Bl % #h X Bl % H 64 | 1,539 746 793
F9 & %7 B 8T | 2 2 0
A i HT 162 415 200 215
m v B 715 1,621 785 836
& % 6 q4 | 2,182 1,015 1,167
Bl % ] a8 396 156 240
%= & 1,919 3,946 1,976 1,970
EZEE | TB 226 424 214 210
B 2TB8B 434 874 432 442
8 3 T8 466 779 395 384
8 4 TB 716 1,370 705 665
MW I 30 18 12
NGB OFE S HT 433 q16 453 463
FE EC & %7 E 0T 16 43 17 26
N wE o ET 14 355 178 177
o X 6,920 14,892 7,292 7,600
IR K3t B R AR ET 1,297 3,131 1,527 1,604
#H K3 1,297 3,131 1,527 1,604
it XX R i X & ¢ € 77 234 121 113
& ¢ ¥ @ ] 63 153 74 79
A Bk OE T 109 257 122 135
2 @\ 65 |49 75 74
it # H 73 201 qq 102
BN OB f] 31 87 44 43
® A 66 | 84 94 q0
X B 6 18 8 10
e | TH q3 189 100 89
EmNE2TAH ql 206 q4 112
ENaE3TAH 107 210 103 107
a4 TH 133 305 | 47 158
maAES5TH 54 120 60 60
a6 TH 87 | 84 g2 q2
A - G- 1,055 2,497 1,233 1,264
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EEAD (X3 - BTT 5)
SFf4F 108 |1 B
H B % Bq T 4% #H HF R A = B -8
LtES®RE | EWw I TH 185 410 198 212
£EWL2TBH 199 459 210 249
£WL3TBH 179 402 206 196
£ 4 TBH 339 898 393 505
£WL5TAH 271 617 294 323
fFWL6TRH 283 683 345 338
£WL 7 T8 234 579 285 294
£WL 8 TBH 275 623 309 314
WmEITB 432 q27 432 495
WmwWE2TB | 29 338 16| 177
WwHE3ITE 230 521 270 251
WwWE 4 TB 153 361 176 1 85
W¥ESTBH 245 577 277 300
WwW¥E6TRBH 263 629 294 335
NS T B 28 66 34 32
IN% 2 TH 347 q09 452 457
N3 T B 181 403 206 197
NS4 T B 565 1,219 555 664
&1 TH 201 477 236 24|
& 2T7TEH 233 576 282 294
T &3TH 138 323 169 | 54
& 4T7TH 26| 680 326 354
T &5TEH 187 436 193 243
BARE | TH 198 503 248 255
BRE2TH 208 57 | 276 295
vHRE3ITHE 71 187 q2 95
BARE4TH 201 458 2117 24 |
BHRESTH 293 774 354 420
Afk& | TH 157 393 193 200
A& 2TH 169 419 210 209
A& 3TH 343 813 403 410
AfR&4TH 670 1,516 699 817
# X E 7,868 18,747 8,995 9,752
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BEAD GBXF - BT T35

SFf4F 108 |1 B
H B % Bq T 4% #H HF R A = B -8
Ry MR | @yl TH | 64 758 499 259
BT E2TH 162 414 209 205
By aE3TH 190 453 231 222
BT E4THE 277 755 361 394
BT ES5TH 330 815 374 44|
By R 6TH 323 q19 470 449
By ETTBE 420 I, 149 59 | 558
W/ NI TE 287 711 333 378
W/ N2TH 228 573 275 298
W/ N3TH 368 992 485 507
W/ N4TH 286 767 376 391
W/ N5TH 277 730 365 365
wr e TH 502 1,109 56 | 548
WrE2TH 44| 990 485 505
wrE3TH 356 1,013 509 504
WwWrE4TH 312 536 257 279
BRI TE 280 734 369 365
BR2TE 439 1,036 517 519
BR3TAH 308 76| 382 379
BR 4 TEBE 331 614 298 316
B | TH | 138 34 |04
v B 3 TH |7 46 22 24
#H K3 6,299 16,013 8,003 8,010
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